WRD14/ WRD16

damss=

\\




-

S
©
dr=

AT9INISSY HO4
\_ a3dind3d S1001

4mm

14T NVIN €
371O0N4H1S LNOd

34VO HLIM SINTLI
JTANVH SAVMTV

JONVLSISSV HOd
T11VO FHNSNN di

X

.
$
A
7
ﬁ.
v,
7
Z
(%)

N3HAaTIHO NOoYd4
AVMY SONILLId n_m_m_v_\

Q]



2 x Fittings Bags Supplied
' 1in Carton 3 - WD14/16DT

Please check that you have all the fittings! 1 in Carton 4 - WDLP

M6x16mm Connect Bolt 3/4 x 14mm Screw M8 Gesipa Insert

21 RM-SY0622 4 RM-SCR04 10 RM-PAR03

O

15mm Cam 34mm Minifix Bolt M8 Gesipa Insert

21 RM-CAMO3 21 RM-BLT07 4 AM-NUTO3

C 0

M6 Nylon Insert 17mm Adhesive Cover Cap 25mm Adjustable Foot

21 RM-PAR 15 RM-CAP07 4 RM-FRL19

—/

If you are assembling this unit with a D-End extension table please refer to
the WDET assembly instruction before proceeding with step 1

—
DAIVIS WDET - - — - | Please check that you have all the fittings! _(seec-s.
' Welcome Extension D-End 8> { &=0 | )|

® : @
5Y| o

S a a < -
EH ) ) 1
XD . QS R Lt R S I [ - £
g 2 — 1
fg
EE — 5 ¢
1
123..) M ¢ L
32 ' g v
wh ! | & This instruction shows the assembly of a LH desk extension. -
o= o © © @ ®©
§ o« ({ 6 30 N 3
. 3 =
- _ -
(] N T
XX o
E
- -
\¢ —
] i\ 1 4

43,

RM-FRL19




Prepare the panels by inserting the listed fittings into the corresponding holes.

% 6 =
HM







@ Join the panels together and tighten all cam fittings




Join the panels together and tighten all cam fittings

\




If you are assembling this unit with a D-End extension table please refer to
the WDET assembly instruction before proceeding with step 16

WDET 1 Please check that you have all the fittings! (rewos s sstesin s

Welcome Extension D-End

CAN BE BUILT AS A LH OR RH UNIT

U‘ﬁ ‘ iﬂ o M"*»f ;%
o |

This instruction shows the assembly of a LH desk extension.

. \ = :

E
H %
oo
3¢ R .
A &
g &= L2g )
=
H P
S
5 i
g =
2

RM-SY0622




\

\

]

@

©,

©

©




10




	Sheets and Views
	WDLP - Instruction-PAGE 1
	WDLP - Instruction-PAGE 2
	WDLP - Instruction-PAGE 3
	WDLP - Instruction-PAGE 4
	WDLP - Instruction-PAGE 5
	WDLP - Instruction-PAGE 6
	WDLP - Instruction-PAGE 7
	WDLP - Instruction-PAGE 8
	WDLP - Instruction-PAGE 9
	WDLP - Instruction-PAGE 10
	WDE - Instruction-PAGE 1
	WDE - Instruction-PAGE 2
	WDE - Instruction-PAGE 3
	WDE - Instruction-PAGE 4
	WDE - Instruction-PAGE 3 (2)
	WDE - Instruction-PAGE 4 (2)


